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_A4 E8 AF 81 c104 167012.htm 411 Which of the following
statements are legal? A. long 1 =4990. B. inti =4L. C. floatf=1.1. D.
doubled =34.4.E.doublet=09F. (ade) D OO DO OO OOO
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public class Parent { int change() {C] } } class Child extends Parent { }
Which methods can be added into class Child? A. public int
change(){} B. int chang(int i){} C. private int change(){} D. abstract
intchang){} (b)) D0 0 OO OO OOOOOChidO OO0
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DO0o00ooOouooubbOondn 430 class Parent {
String one, two. public Parent(String a, String b){ one =a. two =b. }
public void print(){ System.out.printin(one). } } public class Child
extends Parent { public Child(String a, String b){ super(a,b). } public



void print(){ System.out.printin(one " to " two). } public static void
main(String arg[]){ Parent p = new Parent("'south”, "north"). Parent
t = new Child("east", "west"). p.print(). t.print(). } } Which of the
following is correct? A. Cause error during compilation. B. south east
C. south to north east to west D. south to north east E. south east to
west(e) DO OUOOOOUOOOOAODUODOODOOO OOO
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[1 440 A Button is positioned in a Frame. Only height of the Button
Is affected by the Frame while the width is not. Which layout
manager should be used? A. FlowLayout B. CardLayout C. North
and South of BorderLayout D. East and West of BorderLayout E.
Gridlayot(d) U U OO0 ooooooooooooon
J0o0dooooooodoooooooooooooa
D00 0o0ooooooooooooooon
OFlowLayout DO 000 O0dodooooooooooo
JO000o00o0oo0oodooooooooooooon
J000o00o0oo0oodooooooooooooon
Jd0odobdoodOCardLayoutl DD OO0 oo
J0o00do0bodooo0odoodobdoon Gridlayoutd O
Jododobooodoodooooooouoooooa
Joodobooooooooooooooooon
OBorderLayout D D 0000000000000 OOOO



Oo00o00o0oo0oooooooooooooooodgo
Oo00o00o0ooooooooooooooooodgo
Oo00o00o0ooooooooooooooooodgo
Jododooododooooooooodooodo
DJo0000000000000000 450 Given the
following code: 1) class Parent { 2) private String name. 3) public
Parent(){} 4) } 5) public class Child extends Parent { 6) private String
department. 7) public Child() {} 8) public String getValue(){ return
name. } 9) public static void main(String arg[]) { 10) Parent p = new
Parent(). 11) } 12) } Which line will cause error? A. line 3 B. line 6 C.
line7D.line8E.linel0(d) 0000000000 OOOO
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Jo0000o00odododoOooOoOdon 100Test O O
Jodododoooboooooooood
www.100test.com



